



Solve each problem. Write your answer as an improper fraction.

Answers

1) $\frac{29}{5} - \frac{14}{5} =$

2) $\frac{77}{8} - \frac{49}{8} =$

1. _____

2. _____

3. _____

3) $\frac{35}{4} - \frac{10}{4} =$

4) $\frac{19}{8} - \frac{13}{8} =$

4. _____

5. _____

6. _____

5) $\frac{20}{3} - \frac{5}{3} =$

6) $\frac{33}{6} - \frac{32}{6} =$

7. _____

8. _____

9. _____

10. _____

7) $\frac{57}{8} + \frac{62}{8} =$

8) $\frac{21}{4} + \frac{11}{4} =$

11. _____

12. _____

9) $\frac{75}{8} + \frac{12}{8} =$

10) $\frac{41}{6} + \frac{53}{6} =$

11) $\frac{13}{2} + \frac{5}{2} =$

12) $\frac{25}{6} + \frac{40}{6} =$



Solve each problem. Write your answer as an improper fraction.

$$\begin{aligned} 1) \quad \frac{29}{5} - \frac{14}{5} &= \frac{15}{5} \\ 5\frac{4}{5} - 2\frac{4}{5} &= 3\frac{0}{5} \end{aligned}$$

$$\begin{aligned} 2) \quad \frac{77}{8} - \frac{49}{8} &= \frac{28}{8} \\ 9\frac{5}{8} - 6\frac{1}{8} &= 3\frac{4}{8} \end{aligned}$$

$$\begin{aligned} 3) \quad \frac{35}{4} - \frac{10}{4} &= \frac{25}{4} \\ 8\frac{3}{4} - 2\frac{2}{4} &= 6\frac{1}{4} \end{aligned}$$

$$\begin{aligned} 4) \quad \frac{19}{8} - \frac{13}{8} &= \frac{6}{8} \\ 2\frac{3}{8} - 1\frac{5}{8} &= 0\frac{6}{8} \end{aligned}$$

$$\begin{aligned} 5) \quad \frac{20}{3} - \frac{5}{3} &= \frac{15}{3} \\ 6\frac{2}{3} - 1\frac{2}{3} &= 5\frac{0}{3} \end{aligned}$$

$$\begin{aligned} 6) \quad \frac{33}{6} - \frac{32}{6} &= \frac{1}{6} \\ 5\frac{3}{6} - 5\frac{2}{6} &= 0\frac{1}{6} \end{aligned}$$

$$\begin{aligned} 7) \quad \frac{57}{8} + \frac{62}{8} &= \frac{119}{8} \\ 7\frac{1}{8} + 7\frac{6}{8} &= 14\frac{7}{8} \end{aligned}$$

$$\begin{aligned} 8) \quad \frac{21}{4} + \frac{11}{4} &= \frac{32}{4} \\ 5\frac{1}{4} + 2\frac{3}{4} &= 8\frac{0}{4} \end{aligned}$$

$$\begin{aligned} 9) \quad \frac{75}{8} + \frac{12}{8} &= \frac{87}{8} \\ 9\frac{3}{8} + 1\frac{4}{8} &= 10\frac{7}{8} \end{aligned}$$

$$\begin{aligned} 10) \quad \frac{41}{6} + \frac{53}{6} &= \frac{94}{6} \\ 6\frac{5}{6} + 8\frac{5}{6} &= 15\frac{4}{6} \end{aligned}$$

$$\begin{aligned} 11) \quad \frac{13}{2} + \frac{5}{2} &= \frac{18}{2} \\ 6\frac{1}{2} + 2\frac{1}{2} &= 9\frac{0}{2} \end{aligned}$$

$$\begin{aligned} 12) \quad \frac{25}{6} + \frac{40}{6} &= \frac{65}{6} \\ 4\frac{1}{6} + 6\frac{4}{6} &= 10\frac{5}{6} \end{aligned}$$

Answers

1. $\frac{15}{5}$

2. $\frac{28}{8}$

3. $\frac{25}{4}$

4. $\frac{6}{8}$

5. $\frac{15}{3}$

6. $\frac{1}{6}$

7. $\frac{119}{8}$

8. $\frac{32}{4}$

9. $\frac{87}{8}$

10. $\frac{94}{6}$

11. $\frac{18}{2}$

12. $\frac{65}{6}$